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(
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Yz —1)° (8) (a+0b)*(a—0b)*(a* +a®b? +b*)?



ok
[8] HkORXZREBL %X\,

(1) (222 —z + 3)? (2) (a+0b)3(a® —ab+ b2)3

(3) (zy+2)3 (4) (2% — 2z + 3) (2 + 2z — 3)

(5) (a®+a?+a+1)a®—a?+a—1) (6) (2522 + 152y + 9y2)(5z — 3y)

(7) (@3 422 +2—1)2 (8) (4x — 3y)3

(9) (a® +b?)(a* — a®b? + b*) (10) (ab — 8a3 + 64)(a® — 2a + 4)(a + 2)

*k
[9] ROERXD z IZOoWTOHEERELRDLEE, Ea, b, ¢, d DEZRD S,

(1) a(x—2)2+bx+3)+c=a?—x—2

(2) 422+ 3z+2=a(z - 1)2+blx—1)+c

(3) ax(z+1) +bzx(x — 1)+ c(z — 1)(x —3) = 2% — 3

(4) 22 +z+1=a(x—1)(z —2)+ bz —2)(x —3) + c(z — 3)(z — 1)
()

5 2r—12 =a(z - 12 +blx—1)2+clx—1)+d
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Yk
[10] ko EREHLZ S,
(1) (a+b—c+1)2 (2) (a—b+c—1)2
(3) (a—b—c+d)? (4) (a+b—c—d)?
(5) (a®> +a+4)(a®+a—6) (6) (2% +3x+2)(2? —z+2)
(7) (2* —zy +2y°)(2* + 2y + 2y°) (8) (2% +2xy + 4y®)(a® — 2xy + 4y?)
9) (a—b+c—1)(a+b—c—1) (10) 1—a+b—c)(14+c—a—"0)
(11) A4+z+22+23)(1 -2+ 22 —23) (12) (82°—8x2+4x—1)(823+82%+4z+1)
Yk

[11]  ROMVIZEZ 2 S,
(1) (22 —1)(z3 +ax? + 3) DEFNICBNT, 22 OREDP0THSH L)% a D%
RO S,

(2) (22 4 ax + b)(2® + bz + 2) DEFKIIBNT, 22 BLUY 22 ORENF 0D L &,
a & bDEERD: S,

(3) (22 +ax+b)(2? —2bx+a) TEFAL/ZZEE, 23 OREADT, 22 DFRFA13 T
HBHED)BHE a, b ZRDE S\,

(4) 2% — 623 +ax? +6x+b 75, HDH2KRADTFHLRbLE alk bDEzERD%E
S,

*
[12] KOFVIZEZ % S0,

(1) & (z +a)(x +b)(z+c) =2° + (a+ b+ )2 + (ab+ be + ca)z + abe DI L.
DI E LR S,

(2) 1) ZHWT, kROXZRERMLZ 3.
@ (z+1)(z+2)(z+4) @ (a+2)(a+3)(a+4)

*
[13] KROBIWIZERZ RS\,

(1) X (a+b+c)(a® + b2+ c? —ab—be—ca) = a® +b® + 3 — 3abe D) LD
ERFE L S,

(2) 1) ZHWT, KOXZRERMLZ 3.
O (+y+1)(2?+y*+1—ay—z—y) @ (a+b—1)(a>—ab+b*+a+b+1)
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[14]

W
(15]

WO % R L 78 S,

a—b)(a® + a®b + ab® + b3)

a* + a3b + a?b? + ab® + b*)

at — a®b + a?b? — ab® + b*)

ab — a®b + a*b? — a3b3 + a?b* — ab® + b°)
a® — a?b+ ab® — b3)

a® — a*b + a®b? — a®b® + ab* — b°)

(
(a*
(
(
(
(

RONZE BRI L 72 S,

1) (a+b+c)*>—(a+b—rc)?
2) (a+b+c)®—(a+b—c)3
3) ala—0b)(a—c)+bb—c)b—a)+clc—a)(c—Db)

4

(
(

a+b+c)la—b+c)a+b—c)(—a+b+c)
5 2 2

6
7

8

a+b+c)+(—at+b+c a—b+c)?+(a+b—c)?

)? 4 (
2+ (a—b+c)?—(a+b—c)?

(
(
(
(
(
(
( +b+c)atb—c)+(a+b—c)la—b—c)+(a—b—c)la+b+c)
(

)
)
)
) (

) ( )

) (a+b+c)?—(—a+b+ec
) (a )

) (

z=b)(x—c)b—c)+ (x—c)(x —a)(c—a)+ (x —a)(x — b)(a —b)
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